AR 53



20228 = 20l&h F=XHE 2l AN

09 1§ 024

Jm

x

23

200 MI2l==¥

210 A HA2A 4=

A B M A

211 THAIRICH 42 (S5l ® 2
Ty 0l sty rELV LY HimE=+T

ES A 331,317 317,637 13,680

200 MI2l==g 57,480 58,480 A1,000

210 AN+ 1,480 2,480 A 1,000

211 THAr T4 480 480 0

211-02 BRMLAH2 480 480 0

< dStnE I > 480 480 0
O2Xl EASEHINEY dUH= 160,000& x3= 480

216 Ol Xh==2& 1,000 2,000 A 1,000

216-01 3200l A== 1,000 2,000 A 1,000

< WADSD > 1,000 2,000 A1,000
CEE NPT 1,000,000%4#14! 1,000

220 AN L= 6,000 6,000 0

225 AtE ¢ 6,000 6,000 0

205-01 XA E 4l 6,000 6,000 0

< WADSD > 6,000 6,000 0
OZYEI B2 6,000, 0002141 6,000

230 NLHEZMM - 203 50,000 50,000 0

234 BENE 50,000 50,000 0

234-02 JIEFTHEH2 50,000 50,000 0

< WADSD > 50,000 50,000 0
OSYF=3X M= 50,000,000& *14] 50,000

700 BEM=USLIHEHcH 273,837 259,157 14,680

710 B82S 220,690 208,985 11,705

A== 220,690 208,985 11,705

711-01 =NAL S 220,690 208,985 11,705

< MestpsSu > 220,690 208,985 11,705
CEP N 220,690, 00024 220,690

720 LHS 1 cH 53,147 50,172 2,975

21 8= 53,147 50,172 2,975

721-03 JIELEIHE Y2 53,147 50,172 2,975

<HBDED > 53,147 50,172 2,975
OMAH DHHIS (7 SAHL) 531,476, 00024+ 10% 53,147
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H = 0 &8 AFS H A A
2022EE 20A =XHHBIMDSEEH AX
A MSDED
MM NESZH N
CHRl: =XA 2| (EXE DAL ESSIH) (&te M
- - - bS]
A3 H) - HEMY - BHAS Ofl AFoH oﬁ'&% Hunsz2
bSE=amE=nl} 331,317 317,637 13,680
WESA N 331,317 317,637 13,680
FEXE (I BIMDSEEAH) 331,317 317,637 13,680
=X 2R 119, 160 201,160 282,000
201 L2 9| 25,560 17,560 8,000
01 AL 22| H| 18,760 10,760 8,000
OYLLr2=2H| 4,000,000 14! 4,000
ORY=IE(SEA) HEZ 6,000,000 *1A! 6,000
OFHIIACIUENS JHAHF =LHAIAE SX
[SES 1,760,000 * 14l 1,760
ORAFZIE LHIIL 42 700,000 *103 7,000
02 2229 6,800 6,800 0
OSXFXE 2222 % A
400,00024 * 122 4,800
OAlAEZEH|ISXIH| 2,000,000 x 14! 2,000
202 O H] 3,600 3,600 0
01 22U oyl 3,600 3,600 0
OF=Xet= o 150,000 x201 122 3,600
401 AlEH| LY 90,000 160,000 270,000
01 Al&HI 90,000 160,000 270,000
OFXE |XNES 40,000, 0002 1A 40,000
OSYZ=X YUXAA &X 50,000,000 *14! 50,000
ottt 2Y 200,000 104,320 95,680
201 LBt AH| 40,000 24,320 15,680
01 AL 22| H| 28,000 4,600 23,400
OO0CRLXIA HME(SHF=HIL)
1,000,000 *53] Al 5,000
OSYHZNI S EE82 M QM|
1,000, 0002 *33| 3,000
ORlct=It et SXIB 2t
20,000, 0002 1Al 20,000
02 2223 H 12,000 19,720 AT7,720
ORIt 2222 L HA
1,000,000 122 12,000
401 Al HI LY 160,000 80,000 80,000
01 Al&HI 160,000 80,000 80,000
ORolck=ItHet DA 2 AX
40,000, 00024 *3J4 A 120,000
OSoIck=ItH 2 M &X 40,000,000 * 1Al 40,000
OlHIHI (=X E22ISEE A ) 12,157 12,157 0
801 OdlHIHI 12,157 12,157 0
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2A: d=nsh
HM: nESs
=
T

EEE

- _ _ PolE]|
SN HH O (SH) - MBAY - BAS Ofl Ak o oﬁ&%
01 & Bhollgld] 12,157 12,157
(@)t |{=1}s] 12,157,000& = 14! 12,157
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